Aath 3 Honors Unit4 Day 1 NOTES Interval Notation

Interval notation uses ( and [ to indicate o portion of the x-oxis or y-axis which is included in the
range, the domain or a solution. An inequality such a3 -2 « x < 3 would be written (-2, 38].

{ . ) :parentheses indicate the end point number iz net part of the solution|
[ . 1:brackets indicate the end point number iz part of the solution
U : union; indicates ‘or’

= : indicates infinitely large positive solution
- = : indicates infinitely large negative solution

Write the following in interval notation:
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Expression Interval Notation
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A RELATION

A FUNCTION

Vertical Line Test for a Function

RELATIONS AND FUNCTIONS DOMAIN

- 15 a correspondence between two variables.

- is a set of points.

A vertical line can intersect the graph of a function in at most one point.
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- is a relation such that for each x-value in the Domain. ga“o\e : ‘{’VO ‘Ves
there is exactly 1 corresponding y-value in the Range.

or using an alternate form,

If any vertical line intersects the graph at more than one point, then the graph is NOT the graph of a function.
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RELATIONS AND FUNCTIONS 2

A RELATION - is a correspondence between two variables.
- is a set of points.
A FUNCTION - is a relation such that for each x-value in the Domain,

there is exactly 1 corresponding yv-value in the Range.

Vertical Line Test for a Function
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or using an alternate form,
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Factoring Worksheet

Factor Completely:
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